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The process of starting with the simplified answer and
taking it back apart
= “Decomposing” the final expression into its initial

polynomial fractions.
2

. x+14 3
EX: Going from T back to i oo

e Incalculus, you cannot integrate the final result. You have to i'ntegrate each

part separately.
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1. Denominator is the product of distinct linear factors (.. -
2. Denominator is the product of linear factors, some i L,l

of which are repeated el el = Bl oa)

3. Denominator has prime quadratic factors, none of 1% >¢4
G 6

which are repeated B3
4. Denominator has a repeated prime quadratic factor

*The numerator should always be one degree less than
the factor of the denominator
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Write the form of the partial fraction decomposition of )
the rational expression. It is not necessary to solve for
the constants.
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7.5: Graphs of Linear and Non-Linear Inequalities Solutfion J’O sy

@me\PLQ ‘

| Try this with your group.
‘\ Graph the solution set for the following system.
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Graph each part of the system, then graph the solution set to the system.
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Graph each part of the system, then graph the solution set to the system.
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Graph each part of the system, then graph the solution set to the system.
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1) A small airline company in Colorado only flies to two cities and can have up to 10 flights per day. Each
.qight to San Francisco takes two hours, and each flight to Seattle takes three hours. The company must offer at
‘east 3 flights to San Francisco and 2 flights to Seattle each day. Each flight to San Francisco makes the
company $1000, and each flight to Seattle makes the company $1200 profit. How many flights to each city
should be offered to make the maximum profit?

7.6 Lincar Programming
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2) A store wants to liquidate 200 shirts and 100 pairs of pants from last season. The store has two offers. Offer
A is a package of one shirt and one pair of pants for $30. Offer B is a package of three shirts and one pair of

pants for $50. The store needs to sell at least 20 packages of Offer A and at least 10 packages of Offer B. How
many packages of each offer should they sell in order to maximize their money?
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3) A gold processor has two sources of gold ore, source A and Source B. In order to keep this plant running, at

least three tons of ore must be processed each day. Ore from source A costs $20 per ton to process, and ore

from source B costs $10 per ton to process. Costs must be kept to less than $80 per day. Moreover, Federal
Regulations require that the amount of ore from source B cannot exceed twice the amount of ore4 from source ’
A. If ore from source A yields 2 oz. of gold per ton, and ore from source B yields 3 oz. of gold per ton, how

many tons of ore from both sources must be processed each day to maximize the amount of gold extracted

subject to the above constraints?

Letx= Souce 4 AL 3 L] ;,’l

PuR AR §
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Objective Function: ) x + 57 Py i 3 5 ;L\.\\S 11 ‘
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Solution: Y 20O
(2,4) =[toe Lo teas bom 13 4 o, 5) Crom B . .

4) A company manufactures gold balls and tennis balls. Golf balls are made on Machine A for 10 minutes and
Machine B for 6 minutes. Tennis balls need 5 minutes of Machine A, 8 minutes on Machine B, and 4 minutes
on Machine C. The company must make at least 100 golf balls and 200 tennis balls per week. Machine A is
available for 6500 minutes per week. Machine B is available for 6400 minutes per week, and machine C is
available for 2300 minutes per week. The profit for one golf ball is $1.25, and each tennis ball earns $1.35 in
profit. Find the maximum weekly profit.
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